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TP n (PCA to beamline) TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—e— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewBinsAdj1000time_ RECO

= 100 = 100

g EAIE 5 ; ; ; E°F ; ; ;

= 8OE- 1|1t ittt . = 80F Rl

N F : : : A F : : :

6011l T it . S 60F- st

g o : A¥ : o) r d : :

v A0t el S v A0 LR -pEL - |-
20F- - et 20F e L T
of-{lItH it oF, LA | 1o

-20F-{{|Ht iy il N =20F-{ [t :
=A0F- {8 tHHET 1R —~40F- |-t A
=60F {18 HIEHA- - TEHTEREL -60F HHE -
-sof-{|{Hf -80H :

_9_1005....!... ) !.m..l....!.... -g_logiuuuul....l....!.\..l....l....

I (5 A A s ] T P . & P i |-

12 F ] ] i 14 E 5

[ ] ] : ] SRR R FF B PR PR ERRTE B E G L1 R PR SRR
= b A ke E

F ] ] . b| SRR EXTEEEEE BE EF 0 BN epesi e RITE R R
ok j Hth : : 0; : I\ :J 1: 1 :
=3 0 1 2 3 =3 -2 -1 0 1 2 3
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